AP Stats

Chapter 1 1.1 Outline
VOCABULARY

Categorical variables place individuals into one of several groups or categories.
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The radio audience rating service Arbitron places 6 g ra%io stations in%) categories
that describe the kinds of programs they broadcast. Here are two different tables

) showing the distribution of station formats in a recent year?

Format >, Count of stations | | Format | IS
Adult cortemparary 1556 Adult contemporary 1.2 — - l a
Adult standards 1196 Adult standards 86 13838 ~°*
Contemporary hit 569 Contemporary hit 4.1
Country 2086 Country 149
News:/ Talk/Information 2179 News/Talk/Information 15.7
Oldies 1060 Oldies 7.7
Refigious 2014 Religious 14.6
| Rock 869 Rock 8.3
Spanish language 750 Spanish language 54
Other formats 1578 Other formats 114 /.7 W
Total 13,838 Total 959
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This slice occupies 14.9% of the pie This bar has height 14.9%
because 14.9% of the radio stations becaunse 14.9% of the p mw
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FIGURE 1.1 (g) Pie chart and {b) bar graph of U.S. radlo stations by format.
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v When you draw a bar graph _ ke The oz é&uﬁuﬂ WINE L

;Do not replace the bars with pictures for greater eye appeal.
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v Beware of the pictograph
v" Watch the scales Q

5

300 -

/

200 -

Number of buyers

an =
70 <
100 ~
o] @
-
] T 50 s -
e E L} L
E £ 4w None Windows Macintosh
- Previous compuler
A~
. = 10 -
Tone PO Macintonk None PC  Maciniosh
Provigus computer Previous compuier |

Tite

Portable MP3 music players, such as the Apple iPod, are popular—but not equally

popular with people of all ages. Here are the percents of people in various age Lﬁ,.m‘
groups who own a portable MP3 player, according to an Arbitron survey of 1112 Lanel
randomly selected people* & T e
Age group {years)  Percent owning an MP3 player ga) 0/0 of TicCw
121017 54 GrvPs wND owNr-
| Mmo3. mk:_(dmu
1810 24 30 2 }
2510 34 30 &
36 to 54 13 Lot
55 and older /:S/ D
\32 o407
PROBLEM: » -+
(a) Make awell-labeled bar graph to dleplay the data. Describe what yousee= , o _L
(b} Would It be appropriate to make a ple chart for these data? Explain. GQ O + n
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When a dataset involves TWO categorical variables, we begin by examining the counts or
percents in various categories for one of the variables.

v A two-way table describes TWO categorical variables, organizing counts according to a

YOI  variable and a C,OL()(Y\/] variable.

A survey of 4826 randomly selected young adults (aged 19 to 25) asked, “What do _ _
you think the chances are you will have much more than a middle-class income ~ What are the variables described

at age 307" The table below shows the responses. _.]/ by this two-way table?
\
2 A 1ale _ yender |
Young adults by genderand cﬁnce of getting tich e ODIN1ON GO
Gender "Oé’li Oy /\6 4 :4’? ’
Opinion Female Mafe Total
_ How many young adults were
Almost no chance 96 08 [ 194 | surveyed?
Some chance but probably not 426 286 N2 4, g 2 (.0
A 50-50 chance 69 720 1416 - AGUG, :
A good chance 663 758 1421 S
Almiost certain 486 597 1083 |
7 Total [ 237 250 | am2s
WO

v" The marginal distribution of one of the categorical variables in a two-way table of
counts is the distribution of values of that variable among all individuals described by
the table.

v’ Percents are more informative than counts. Almos‘f‘ Céﬁ'&.&n ‘h)l'al |O82
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How to examine a marginal dlstrlbutlon

o Use the data in the table to calculate the marginal distribution (in percents) of the row or
column totals

o Make a graph to display the marginal distribution.
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| Opinion Female Male Total
Almost no chance 96 08 194
Some chance but probably not 426 286 712
A50-50 chance 606 720 1416
A good chance 663 758 1421
Almost certain 486 597 1083
Total 2367 2459 4826
PROBLEM:

(a) Usethe data in the two-way table to calculate the marginal distribution (Inpercente) of

opinlons.

() Make a graph to display the marginal distribution. Describe what you see.
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